EXERCISES — ALGEBRA

Name:
1. Expand and Simplify where possible: 3. Factorise:
(a) 5x — 4(2x — 3) + 6x — 8 (@) 4A%- 9y?
(b) 6x>—7x—-3
(b) (6 — 4x)(2x + 3)
2
(c) (2x-19) 4. Solve the following equations:-
(@) 3x+10=11x-2
2. Simplify -5
CEEEE
(@) 8ab2 g 3ac
9¢  4abc
by % E ©) x*=10x+5=0
x+3  x — by completing the square!




5. Make “x” the subject of the following:

(@) v=u-ax

a+x

(b) b=

6. Solve for all possible values of x :-

Graph your sol". on the number line.

(@) 9 - 5x > 13

() |6-3x|= x

7. The sides of a rectangle are measured to
be 12cm by 7cm (to the nearest cm).

(a) What is the absolute error for the length
of the longest side.

(b) What is the relative error of its Perimeter
based on the inaccuracies of the above

measurements.

8. Solve simultaneously:

2x+y—-6=0 and y=x2—3x
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4. Solve the following eduations:-
(@) 3x+10=11x=2

(0 +2 = ot —3%¢

(A = %x «z
LS = s 7
2. Simplify N U
(@) 8a'bz=x 3de h ) '
9c " 4ghe %_ - 6(x-5) = 34
= zib 2z -3 6e-s)= 36
. CRIC — B AT = L
- = 2
xo o= 2y -
L a4 (©) x?=10x+5=0
()x—:-B—' X

2 — (o +3)(% =4

% (e+3)
= ot~ (ke 2D
X (% +3)
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W= fvr (2
LT T X A T2

X (2 3)

—. by completing the square!
2T (ox |
T lox

24 (2

22 (LD

= -5
X — (o £25 = % 425
Ge-S)HO* = 26 . |
x-5 =4 Jzo
2 =+S FaJs




5. Make “x” the subject of the following:

(a)v=u—ax
, a,x-—;uw‘\/
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.. a
®) 5=

e - =

7&(\0 j a 2 ==

6 Solve for all possxble values of x :-
Graph your sol. on the number line.
(a) 9~-5x>13
<? > (3 +So¢
(-[3 > <5 »<

"‘L-P->5’DC
~4 > o
. 8§

7. The sides of a rectangle are measured to

_be 12¢cm by 7em (fo the nearest cm).

(a) What is the absolute éfror for the iength

of the Iongest side.
Eror = + 05 cm

(b) What is the =Iatxve error of its Perimeter
 based on the inaccuracies of the above

measurements..
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